Department of Electrical Engineering, IIT Madras
EE1100 @ IIT Palakkad - Basics of Electrical Engineering

KG/IITM Assignment #2 Sept.04, 2016

1. In the circuit below, find the current I through the 0.2Q resistor. Hint: Use Sigma-Delta coversion if
required.

2. Find out current I,p, using linear superposition in the 2 circuits diagram given below.
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3. Determine the voltage drop V. across the open circuit in the circuit of Figure.
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4. Find the voltage V  in the network shown in the below figure.
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5. If the interconnection in the figure below is valid, find the total power delivered or
consumed by each source in the circuit. If the interconnection is not valid, explain why.
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6. Determine the current which flows through each resistor in the circuit shown below.
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7. Find Vo is the circuit below.
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8. Use linear superposition to find the value of Vx in the circuit of figure given below.
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